<

\_/

ULTRA-34
ULTRAPILOT

UNIVERSAL AUTOMATION SYSTEM

SERVICE MANUAL

820-178-00 MACKIE DESIGNS INC.




ULTRAMIX SELF TEST PROCEDURE

Setup:

Connect the MIDI OUT jack of the DUT to the MIDI IN jack of the DUT.
Use Control Interface Port test adapter to connect the TX to the RX signal at the CIP"

RAM Test: (Tests SRAM and EEPROM)

Action:

Response:

Apply power to DUT.?

PASS: The three LEDs on the front panel will light up sequentially
(MIDI first, then Bypass, then Local). All LEDs will then go off and
the Bypass LED will come back on, indicating that the DUT is in its
default power-on mode and is ready for normal operation.

FAIL: The bottom two LEDs (Bypass and Local Mode) will flash
quickly and the DUT will hold in this failure mode.

|0 Port Test: (Tests MIDI 10 and Control Interface Port 10)

Action:

Response:

Simultaneously apply power to DUT and
depress Local Mode switch.®

PASS: All three front panel LEDs should flash at about 4 Hz.*

FAIL: One (or more) of the LEDs remain unlit.
Bottom (Local Mode) LED = CIP failure
Middle (Bypass) LED = MIDI port failure

Switch Test: ( Tests the front panel switches )

Action:

Response:

This is a continuation of the |0 Port Test.
Depress each switch, one switch at a time.

When a switch is depressed, its companion LED will go off as long
as the switch is engaged. Release the switch and the LED should
resume flashing.

! Control Intreface Port

2 |f DUT is already powered up, remove power then reapply power.

% See Note 2
* The LEDs will not be flashing in sync, but that's ok.




VCA / DAC and Meter Test:

( Tests the voltage controlled amps. , their digital to analog converters and the meter circuitry)

Action:

Response:

This is a continuation of the |0 Port Test.
Simultaneously depress the Local Mode and
Bypass switches.

This test ramps all of the VCAs up and down and runs the
meter multiplexer.

The local mode and bypass LEDs indicate the direction that
the VCAs are being ramped, with the Bypass LED indicating an
upward ramp and the Local Mode LED indicating a downward
ramp. The VCAs can be held at full gain by depressing the Bypass
switch or at full attenuation by depressing the Local Mode switch.
The VCAs will return to ramp mode when the switch is disengaged.

This test will also allow you to check the meter circuitry by
probing pin 3 of any 405! IC on the VCA board. As long as the VCA
test is active, the meter multiplexer is running.

End of Test:
(Good Bye)

Action:

Response:

This is a continuation of the VCA / DAC and
Meter Test.

Simultaneously depress the Local Mode and
Bypass switches.

Ends test and returns DUT to its normal operating mode.




Output Connector
400-102-00

Lrg Red Led
304-006-00
Red Leds _ Hordlordford|ord|ord|ord|ord|or|ord|ora|ord|ota|eca|ord|ocd]or ®/§
304-00100 SOFTHEDE Lrg REC/RDY button
Aol I{eldfel el Jel el Jel |l Jjlelfe[Ifo[Ifo[dfal el Hel el N8 [] 760-002-01
[ | I N | | [ ] L_Jo
G reen Leds L 4 4 4 J J ‘& ‘-’ J J | o Q
el O (e} O (¢} (o] (o] (e} O (¢} ¢} (¢} o] O o (o] O
304-004-00 Q o ) o o o o I°) o o o I o o Q o o D
[a]
e e e e e e e e e e e e e e Smallbuttons
] 760-003-01
EERERERERERE RE RE RERERERERERERER N
knob 760-037-00 frasseost 760-002-00
pot B0-029-00

End Caps

left 760-034-20
right 76 0-034-10

AN

End Cap Screws
700-010-06

Armrest
551015-00

All Switches
500-005-00

Surface screws
700-01:00

Bottom Screws
700-006-00

Side Screws
700-010-00

Back Screws
700-010-00

JHill 1/9°6

T

Front /4" Jacks Nut Button
MidiConnectors 400-100-00 705-003-00 760-033-00
400-0700 Washer Red Leds

Back 1/4" Jacks
400-100-00

10-002-00 304-001-00

CAUTIONereneese

R__ . g _ . _ _ _ _ _ . _ . . g _
g‘UDT‘ L

T

9999@
©0OOEO

@9@@
©OOE

INSERT/IN

©
©

999 0999
" " ©0©000000O

AC Receptacle

400-009-00

Fuses

Modular Input Connector
400-102-00

Surface Screws
700-0100

Side Screws
700-010-00

Back Screws
700-010-00

1V 510-001-00
230V 510-002-00

JH il

1-96



IN Vg i ‘
INSERT |
i JL;MPER
ouT § !
‘ e PASSTHRU
| 120 =
| FRONT JACK PCB supeR
T3 oRke
SEND || =& 5 ci4
| ‘ K195 47PF
I JYMPER
! ! 120
| | R119
| | 228? 20K L105 +15V wsv S
‘ R118 47UF . a 50V
RETURN || VE=— aupen 25V 20K D5y RI01 U4 +
P c— + 20K ] ﬁ
D S ke | 1 +) 21817 ] 1
i | R120 Tl
| |
! 1 JnpeR U101A R109 R103 IN-ouTt
| = ofe’ *} 2 NJM 4560 GAIN o 100K 510 %Em symp +15V
! ! RI0Z -S4 AANA, EC— GND[B R
i ‘ €108 R121 50KB R110 V- 120K THD
22UF 6~ 5
55y 20K 100K 5 U R107
CV1 = + 104 50KB
l U102B 6K ?JEB
R106 1 c101 NIM 4560 2
~15V
22K T;%Fv - NOM 4560
-15V =
+15V
uioic  uUl2c ut03c |- RIS
103
C'\ﬂw L | ci09 TUF
: ~.18 ~.8 ~8 - R12 50V
- B B 20K ENVI
110 4 4 4 L =
N c112
T 1 - U103A
= NUM 4560 NJIM 4560 6 Rl NJM 4560 R116
= A 7 2
NJM 4560 T, 45'> 1 10K
B
u101B D101
NJM 4560 = DL4148 U1038
= NJM 4560
R4 1oz
20K pL4148

IVIACICAES

ULTRAMIX VCA CIRCUIT
CHANNEL 1 SHOWN



oV > cv25 D
clu +
c2 ca 1 K
VREF VREF /7!7—[—{
il 8 us -1 8 16
ova DMBBB342 5 VZSS VDS1 15 ovas DM888342 VVQSS VDS1 5 CND  vee
i
= 33 bl = 3 DIttt L TS
V4 O v okl V28 O tve ok 15
e o 5ls o2 DACO Vs o E1v (pl2_DAC3 X2 15— ENV27
Ve X3 H2——ENv28
s vg X4 ——DENV2S
= 4051 XB[5——DENV3D
52— ENV3I
X7 ——DENva2
wnle SEL3
N
10
8
cvsz Zivee o2 ZVEE o2
Vo > V33 O /J: /Jj
(o c1o A
VREF VREF crz TV cig T1OV
us =1 8 s =1 B ! ! 1 cia
MBBB342 ,, [VSS VDD MB88342 , [VSS VDD +15V 470F 47UF
ovip & 2z i EZ = Al i 16 16 |28y 25
VIl & s DIfS s oIns eND VEC oD vee | l
gmé g 5 2 Ctg 12 DACI gi‘; Dtg 17 DACA 3 Iy X0 H ENVY 3 X0 E ENV33 17 o
cvie 6 5lye ol X1 HE—envio X1 —Oenvas Bl i
e pavs Vs o 2 —oEwn 2l Ja-1 1
GND  VCC X3E——1DENVIZ u10 X3 1 '
5 V7 x4 H——Envis 4051 X+ Jh— —
9 sy 4051 X5 PP——1OENVI4 X5 1
X6 ——DENVIS X6 =
X7 A——ENVIE X7t 43—
o SELI- = sEl4- 0
cvie ! NH ? N ?1 +5V 47uF
m Ao 25V
o7 & 8 B
% 1 /J;LVEE c /J;LVEE c
- 021 1
us - U 8 +15V st
\MBBB342 . [VSS VDD 13 145
cvig O 22 vifls 1
cvie O 2 3 0l 1‘; /7[7—‘—{
oV20 O 4 ClK
Vol & 55 [pfl2DACZ 16
cv2a Hvs ol eno vee |
cves o——L1 X X0 DENVTT _§ < GNDT
x1HEq —DEnvig s
x2 HE——>Envig v [
X3 H2——>Env20 s6-2 [}
ug X4 %DENVZW s6-3 [}
o8 e Shwas el
Cva4 X7 ——>ENvV24 465
whlE SEL2- ws-s [
é 12] J4-7 <—GNDZ
lyee cle 18-17 O———
/J: 18-18 O————
JB-19 O——
48-20 0———
J3-1 OSELA
J3-2 OSELB
J3-3 SELC
J3-4 DSELO- V15
J3-5 SELI-
J3-6 sl 2-
437 SEL3-
J3-8 {DSEL4—
J3-9 010K
J3-10 DoATA
J3-1 S0Aco
J3-12 SDACT -
J3-13 DDAc2
J3-14 DDAC3
J3-15 DDACs
13-16 O
J3-17 O
J3-18 O
43-19 A/DINPUT
J3-20

IVIAC A ES

ULTRAMIX VCA BOARD
D/A CIRCUIT



VCA GAIN CELL ASSY

005-036-00 REV:____ 2

34
33

LEVEL

THD

cvi9 Cv20 cv21

LEVEL

cv22

cv23

Cv24 CV25

THD

=
[caz1¢]

02214

R2219 |) U2201

@)
o

C241

CV26

R2218

R2319 |)U2301

R2419) U2401
R241

R261.

R2619)U2601

LU e X =,
ULTRAMIX VCA BOARD
PCB LAYOUT, RIGHT HALF




C1i14

ri215] c1210] crzn [ R1227]

40
39

BLU

ORN

GRN
YEL
vio

19 20

J3

r13t6] c1310] o3t [2€l |

R1416] c1+10] ci+n [R1427 ]

Ri516] c1510] c15m] R1527]

V3

C1714

R1119

U1301

R1419

R1719

LEVEL

7 O

THD U3 s

R

R1418|

R1718

C1704,

LU e X =,
ULTRAMIX VCA BOARD
PCB LAYOUT, LEFT HALF

[

C4

c5




CH 17 RETURN -
CH 1 RETURN -
CH 17 SEND

CH 17 SEND GND
CH 18 RETURN -
CH 2 RETURN -
CH 18 SEND

CH 18 SEND GND
CH 19 RETURN -
CH 3 RETURN -
CH 19 SEND

CH 19 SEND GND
CH 20 RETURN -
CH 4 RETURN -
CH 20 SEND

CH 20 SEND GND
CH 21 RETURN -
CH 5 RETURN -
CH 21 SEND

CH 21 SEND GND

CH 22 RETURN -
CH 6 RETURN -
CH 22 SEND

CH 22 SEND GND
CH 23 RETURN -
CH 7 RETURN -
CH 23 SEND

CH 23 SEND GND
CH 24 RETURN -
CH 8 RETURN -
CH 24 SEND

CH 24 SEND GND
CH 25 RETURN -
CH 9 RETURN -
CH 25 SEND

CH 25 SEND GND
CH 26 RETURN -
CH 10 RETURN -
CH 26 SEND

CH 26 SEND GND

J2

(J38 on front jack PCB)

© N 0 Wl

11
13
15
17
19
21
23
25
27
29
31
33
35
37
39

0 O B N

14
1
1
20
2
24
2
2
30
3
34
36
38
40

o o

N

@ o

N

CH 17 RETURN +
CH 1 RETURN +
CH 1 SEND

CH 1 SEND GND
CH 18 RETURN +
CH 2 RETURN +
CH 2 SEND

CH 2 SEND GND
CH 19 RETURN +
CH 3 RETURN +
CH 3 SEND

CH 3 SEND GND
CH 20 RETURN +
CH 4 RETURN +
CH 4 SEND

CH 4 SEND GND
CH 21 RETURN +
CH5RETURN +
CH 5 SEND

CH 5 SEND GND

J5

© N 0 W

11
13
15
17
19
21
23
25
27
29
31
33
35
37
39

00 o B~ N

J7

CH 27 RETURN -
CH 11 RETURN -
CH 27 SEND

CH 27 SEND GND
CH 28 RETURN -
CH 12 RETURN -
CH 28 SEND

CH 28 SEND GND
CH 29 RETURN -
CH 13 RETURN -
CH 29 SEND

CH 29 SEND GND
CH 30 RETURN -
CH 14 RETURN -
CH 30 SEND

CH 30 SEND GND
CH 31 RETURN -
CH 15 RETURN -
CH 31 SEND

CH 31 SEND GND

© N 01 Wl

11

15
17
19
21
23
25
27
29
31
33
35
37
39

J8

CH 32 RETURN -
CH 16 RETURN -
CH 32 SEND

CH 32 SEND GND
RIGHT RETURN -
LEFT RETURN -
RIGHT SEND
RIGHT SEND GND
GND

GND

© N 0 W

11

15

17
19

CH 22 RETURN +
CH 6 RETURN +
CH 6 SEND

CH 6 SEND GND
CH 23 RETURN +
CH 7 RETURN +
CH 7 SEND

CH 7 SEND GND
CH 24 RETURN +
CH 8 RETURN +
CH 8 SEND

CH 8 SEND GND
CH 25 RETURN +
CH 9 RETURN +
CH 9 SEND

CH 9 SEND GND
CH 26 RETURN +
CH 10 RETURN +
CH 10 SEND

CH 10 SEND GND

(J60 on front PCB)
CH 27 RETURN +
CH 11 RETURN +
CH 11 SEND

CH 11 SEND GND
CH 28 RETURN +
CH 12 RETURN +
CH 12 SEND

CH 12 SEND GND
CH 29 RETURN +
CH 13 RETURN +
CH 13 SEND

CH 13 SEND GND
CH 30 RETURN +
CH 14 RETURN +
CH 14 SEND

CH 14 SEND GND
CH 31 RETURN +
CH 15 RETURN +
CH 15 SEND

CH 15 SEND GND

(J82 on front PCB)
CH 32 RETURN +
CH 16 RETURN +
CH 16 SEND

CH 16 SEND GND
RIGHT RETURN +
LEFT RETURN +

LEFT SEND

LEFT SEND GND
GND

GND

(J125 on front jack PCB)

CH 1 OUT|
CH1IN
CH20uT
CH2IN
CH30ouT
CH3IN
CH4 0ouT
CH4IN
CH50UT
CHS5IN
CH6 OUT
CHG6IN
CH7o0uT
CH7IN
CH8 ouT
CHB8IN
CH9 OuUT

© N 0 Wl

11

15
17
19
21
23
25
27
29
31
33

CH17 oUT
CH17IN
CH 18 OUT
CH18IN
CH19 OUT
CH19IN
CH 20 0UT
CH20IN
CH210UT
CH21IN
CH 22 oUT
CH22IN
CH 23 OUT
CH23IN
CH 24 OUT
CH24IN
CH 25 0UT

GND

GND

GND
CHO9IN
CH100UT
CHI10IN
CH110UT
CHI11IN
CH12 oUT
CHI12IN
CH 13 oUT
CH13IN
CH 14 OUT
CH14IN
CH150UT
CHI15IN
CH 16 OUT
CH16IN
LEFT OUT
LEFT IN

© N O W

11

15
17
19
21
23
25
27
29
31
33
35
37
39

GND

GND

GND
CH25IN
CH 26 OUT
CH 26 IN
CH 27 OUT
CH27IN
CH 28 OUT
CH28IN
CH29 OUT
CH29IN
CH300uUT
CH30IN
CH310uUT
CH31IN
CH 32 0UT
CH32IN
RIGHT OUT
RIGHT IN

+15VDC

GND
-15vDC
+5VDC
DGND
GND
GND

SELA
SELC
SEL 1-
SEL 3-
CLOCK
DACO
DAC 2
DAC 4

N/C

A/D INPUT

SELB
SEL 0-
SEL 2-
SEL 4-
DATA
DAC1
DAC 3

N/C

N/C

A/D INPUT

VI CICEES

ULTRAMIX VCA BOARD
JUMPER PINOUT




+15V

ADDRESS DECODE ADLG:7]
RAM_| 0000 +ov +15v
A/D | o800 CW‘ +5V
HoX T 517 100K 100K
Al
UART| 0808 o Ut4A 74C005 R352 R39
40 20 74Hc02 J— +5V
o -
+5Y s0oF e e PR g jD i DseLo
+5v s vee  owo U20A
O /% r/ve " 200|39_ADD ADO - AQ0 A0 g oo L__ADO ADQ g -« 74C005
19 8 ADI ADT 1 AT AOT g 12 Al AD1 5 1 18
‘DESF*I aog?T T 18 80C51T IS apz ADZ ey AZ g us oatzA0Z ADZ o SELC e SELI-
36 AD3 AD3 | 6 15 A03 A0S 7 15 AD3 AD3 3 15 SELD 1
R9 R4 50V T r03 as TS 5 27C128 o3 57 @
K 2K 9 beecer eos |35 ADE aDs | 5 qel 16 A0% ATE ¢ orfls ADE AD4 5 T SELE 2
s |34 235 25: 4 P 28: s 5 o517 e 232 4 iz SELF 3 OsELz—
12 33 3 18 4 18 ] 3 18 +av
45V 13w ro® (32 AD7 A7 | 2 2he a07 A07 3 % [is a0 YT a0y 5 e WUTELED +3
T R1 12 21 A08 ﬁgg ﬁf A8 — f ot N
8 I a2 5V ! 20172 A08 A o1 . £
- §950 2 A AT 23 {— {]706-030-00 528
no wc,J; o3 |24 2 :é 2 —{]706-030-00 74}307135 SEL4—
:‘2 ss& 3 R6 ;;; 6 A3 5V oy +——{]708-030-00
390 P26 A4 +—[]706-030-D0 100K > 100K
2‘%116 T P27 28 AL +—[]708-030-00 R40 < R4S 415y
R7 1K '
DATA D—WV 312 wHZ o t———{]708-030-00
RE 1K Alois wrs
CLOCK A 514 psin b2
MUTE = ‘75 s ALE/P] 1310 23
BYPASS > 5 0 390 i) g
8 10
BYPSLED > 17 RXD +aV e = {DL'V {1 10 uLrrARILOT
{ e U1ZE
Kl
vza 74HC14 SERIALOUT >
ACTIVE 2 o R30
u1g 220
T4HCT4 74HC138 [Vvee e 21 yp
SERIALIN > N Yok +5V cg VeC oD | B850 | 45V 5V
SERIALOUT 5 2 | ;; il 14 T
7| ITXD £so
U128 ui2c T2 EEG 5110 | R26
TAHCI4  74HCI4 i 24 |12 e 470
+5V ¢5 B 75l vee - enn Lz SERIALIN &>
s Elor o A00 9 ADD ADO g 11
[c2A iy AD1 e YT AD1 P R D A00 n-3
v A02 A o ADZ A 20 sion RX FROM ULTRAPILOT
naz TS|
77 AN AD3 5 s paa |13 AD3 Al 19 507 CL-L I J2
oo A03 igg 4 ogs [t AD4 2 18 74HC14 o 1-7
3 SN oos [ A% A 1 TxeLk T
14 AD7 oae AD7 A 5 ek e $70F PNR TO ULTRAPILOT
5 e T 007 [ 15 R/ 01
_A0E 23]
12 e
1 %AB Ji-1
A0 1o L
5 w10 DIRTY_REF J1-6
2l Tuiss
SELA DO— < —
Ay, 1) 74HCT0 12-1
T\ 1 lz SELB >0 J2-2
6 Al 18 e 3 ) xaary U224 SELE D——————0 43-3
™ Loy UT5A a8 NIM 4560 SELD- DO————0 J2-4
10 15y 2045¢ 74HC10 hry A/DINPUT > 4 SELI- D——0 J2-5
LR ® SEL2- D>——0 426
VEE s u17 +5V ¢ R44 SEL3-D>——————0 j2-7
6116 N 10K SEL4— >——0 J2-8
41-5 u13 uvA
_ U22¢ 5V CLOCK D>———0 J2-9
4 Mﬁ;‘g 4051 & NJM 4560 74HC393 DATA D————0y2-10
Unused pins fram RJ comnector 20 10 DACO > 5 yaii
D22
53 vee ED DACI D———0u2-12
-15V 5V ADD 4148
B DISPLAY BOARD ADT 2 R =
+5V +5v +5v utac 1K DACIE>——0u2-1
c22 23 c24 74Hc02 ﬁ 12 e |2 DACH D—————0 215
1 K Bl = ©J2-18
9 pE U228 - MUTE  § 1 swi A [ wlz 5V O +5V - St
NIM 4560 — A = R21 WUTE
"7 L L - = BYPASS sw2 A JoK i e BYPASS 2 CI 0 Qu-18
- 12 k11 BYPASS D——— 2> E1-5 A/DNPUT D————0 219
U20 45V caa +5v Al 11 MUTELED D FTe-Er—> E1-4 z-20
. eE 50 (e 1 R28 P S— BpsLED O——EEER > £1-3
74HC14 74HCO2 74HC10 oo MUTELED K b2 B Liss o 13 ACTIVE D> £1-2 TO VCA CIRCUIT
U200 w |7 o) - R29 RED § R vrer |9 (4 ; 0o PF /7’7% E1-1
+5v o5 140908 e rs BYPSLED K p3 R 5 10UF |50V
—5—‘ > U216 = -
] SPARES *lcso R32 RED TO SWITCH DISPLAY CIRCUIT
u20F 740906 eat ZUF ACTIVE 390 D4 B uo
ﬂ 740906 : £2-2 ADCOB04
i +5V 18V RED 450-039-00
vic oo dorer eafll ca9 ’7_>m’5 ['pce, Looic, uLTRAS4
U21F . E2-7
vac asﬁ 10 745505 [j2es 0ar00
74HC393 hry 12 13 " ; +1ov DT* J11-6 R33 %éﬁ%g:f,mswmg
12.4cip ® Ui cs3 ez £2-1 K Cstanporr, swace
s u206 A BV 05 257-]712-020-00 o™ 8-18-95
usB 74C906 DIRTY_REF RED %] BRACKET, ANGLE
74HC393 5 oA W12k - 20 v 8-18-95
) 74HC14 DIRTY_REF 5> J11-7 Bﬂ 706-032-00 4 SOeKET, 40 PN, D
77 712-021-00 FROM POWER SUPPLY SPACER, NYLON, 'LED', .300 21 [J4o1-001-28
7392108 IC SOCKET, 28 PIN, DIP BN 8-18-05

IVIIACICAES

ULTRAMIX LOGIC BOARD SCHEMATIC



43

RZ7
[D15

w
g m "3
© - | A B
K = | 2|
]
= s e @Q
T = o=+

NIKIR
INIRSIR
& |2 |
-ﬂ--ﬁ-9
mmﬂnn
o~
S

o~
B
S

& we
SRR
SEEEE
; =
Gy —

@
& @
oL ]

DI

op @

uio

U4

6]
6 ] L]
9

C.
L

= 2 Q 5
jo=| |e=] SF |

L 1>

Y1

| —

|
[©

| E—
|

|
|

{RZ} R29
[

IVIINCE A EE
ULTRAMIX LOGIC PCB LAYOUT



D8

IN4002
1 Y oy
U16
7815
oo 10-1 +15V
o5 bie 34 L l 2 *l?ggw lczg £ J10-2 CLEAN_REF
A 3002 B0z 6.50Q0F ca3 wi%oz 25 : IN4002 J10-3 —15v
T T A4 +sy TO GAIN CELL
IR
-1 J10-5 +5VREG_REF
)i-3 b6 R [——>10-6 JACK_GND1
IN40DZ o —>J10-7 JACK_GND2
a0 & =1 Jo-7 L
IN4002 7915
, U
l fw out d12—-1 +15V
1 \LCZS i cag J12-2  CLEAN_REF
lcsa D9 2 TR, N2-3 15V
39 + 1 Sanaoez F
6.800UF T 1L N2-4 +5V TO LOGIC
35V 15y J12-5 +B5VREG_REF
ok, J12-6 +10V
=]
Zihhs Bningz u1g J12-7  DIRTY_REF
| 7805
R — worf?
250 +/-VREG_CAP_REF nes cou Jrl
-z + 2 40 c41 & D12
259  +/-VREG_CAP_REF 519 6,800UF C42 ;%OUF 1 IN4002
Bi\io0y B D18 oY !
IN4002
252 45VREG_REF
293 CLEAN REF
754
£0% DIRTY REF
755
o JACK_GND1 PS FRAME
{— 0o—JACK GND
255 cuassis Rer )13 CHASSIS
O x D © = 1 4
[ T R o o L =
J1 o m m O @ > >
PS FRAME . 1
-Conop- " VCA GAIN CELL 7
-Con - H ,
-Cor -
]
= o = 0 o
2 E x ¥ =
LOGIC
o
(= |
|
o |
I
T
[
o =
L L
-Cos -
-7 - ~Cosp- -Con - (s -
POWER SUPPLY BOARD ULTRA34 MACKIE DESIGNS COPYRIGHT 1994
O U8 15V e risv g +5V o

ULTRAMIX POWER SUPPLY
SCHEMATIC AND PCB LAYOUT



R31

120 2, /3 0
2N4403
1

R32

120 2 [B

N
7 lvee ol
ui7
s 40518

A0 D>

Al D>

A2
U3 R1

120
DSB- DSB

74HC14

UsA

74HC14

74HC14

A/D_INPUT -2
Ji-4

o Ji-6

R36

120 2 06
2N4403
1

R37

120 2 3 a7

74HC14

Ji-1
-3 «—aA0

-5 «——aa1

3V

—OC0

—Dn

—DCs

—C6

D54 D58 D62 06§ D70 D74 D78

] 5 3 3 5 ] T B3

05 D53 D57 D61 [065 D89 D73 077

] ] ] ] ] ] j? R

GRN GRN GRN GRN GRN GRN GRN GRN

D23 055 D59 D83 D87 071 D75 079

5 55 5 3 X B 53 B
GRN GRN

024 D56 DB8

By Y g B I 0 Py % D8 » » D10
9 1 1 12 3 14 15 16 FX 18 [PLAY
STOP

GRN
D2 026 D30 D34 D38 D42 D46 050 a7 088
3 ) R ) ) N ] 5 S S
REC/RDY K
GRP SEL| | GROLP 18
D1 D25 D29 D33 D37 D41 D45 D49 D8y D8p
) Y Y Y S Y Y Y Y Y
T R R R T B
soco| | 17-32
GRN GRN GRN GRN GRN GRN GRN GRN GRN
03 02/ 1 035 039 043 D47 051 083 084
S S N & N NS § ) N
1-16 —‘é—‘ —‘é—l —‘é—l —‘é—l —‘é—l —‘é—l —‘é—l —‘é—l
MUTE || 1-16
D4 028 D32 D36 040 D44 048 057 081 D82
RO N T T T O
1 2 3 4 5 6 7 8 RECORD [GRP
DSD &> ASS
DS1 >
D52 &>
D53 &
0S4 D
DS5 =
DSB =
DS7 &>
DSB D>
DSy
=
[T
b=
o>
=
=
h=
[S]=%

STANDOFF, SWAGE #4 X .555L

STANDOFF, SWAGE #4 X .555L

051 D—— J1-8 J1I-7 <————CA2
D52 D——> J1-10 J1-9 <———IA3
D53 D——=> =12 J1-11 <———ISWD
Cc3
R D54 O——> JI-14 JI1-13 <————I5W1 =
i
ﬂ 055 D——=> J1-16 Ji-15 <————I5W2
4 DSE D>——> J1-1B JI-17 VREF
use DS7 D——>1-20 J1-19
T4HC14 o
D58- D——>u1-22 JI-21 !
D59- D——>u1-24 J1-23
[ ase— =
7
CHGND &>
2100 71 74 710
[]450-057-00 706-033-02 706-033-02 706-033-02
PCB. FADER BOARD | STANDOFF, SWAGE #4 X .555L STANDOFF, SWAGE #4 X .555L
7102 22 25 28 zn
[]706-008-00 706-033-02 706-033-02 706-033-02 706-033-02
STANDOFF 4-40 X .34L |STANDOFF, SWAGE #4 X .555L STANDOFF, SWAGE #4 X .555L STANDOFF, SWAGE #4 X .555L
z101 z3 6 25 712
[[]706-008-00 706-033-02 706-033-02
STANDOFF 4-40 X .34L [06-033 02 [06-035 0L

STANDOFF, SWAGE #4 X .555L

STANDOFF. SWAGE #4 X .555L

STANDOFF. SWAGE #4 X .555L

STANDOFF, SWAGE #4 X .555L

IVIINCE A EE
ULTRAPILOT FADER BOARD
SCHEMATIC , SHEET 1 0F 2




3

IS

5

8

9

10

"

16
SW39A ’_o/* SW41A

1 12 13 14 15
RECRDY F{SWM I—«{:SWM ]—o{:5w7A l—o{iswm l—o{; wiza [—f Swiea J—ofF WigA I—f sw224 l—o{:&;wzm I—VT,WZBA r{swm F{,WHA J—f SW35A l—f SW37A I—o{;
SWO =
SOFT l—{_ﬁwy\ [_"{_.WW\ 1—“{_. SW8A l—»/j_ﬁwm l—o) EW14A l—f SWITA J—fu 5W20A 1—"{ 5W23A 1—"/?_.5“/25/* l—f SW29A r"iswﬂf* |—«) SW34A |—o} SW36A l—f SW3BA 1—“{_. SW4OA ’_“/:_.
SWi D
et L It R e e I s [ lswaen el swess T [SWed
SW2 O
RECORD SOFT MDOE GROUP BANK SHIFT LOCATE PLAY / STOl
SELECT/ASSIGN SELECT|
A0 &>
=S
AZ = U3
.
A3 D
+5v \ﬂ/ +5v
=g o ]
EEFERPEEE 74HC14 TS
L gRggoer Fe@o B
cw$ ©| s = us
- s
2 40518 » 2 40518
g ] =
© g
N
= N‘
ek s
VREF >
N R22e R3 S RS R6 S R7 RS S R10 S< T Za RN R12Z < RI3 S RI R15 S R16 R17 S R18 S< Ios
T | ] | ]
=
A D
A2 D TEG
5= {D 5
Ao+ J 9 74HC14
VREF L exg2yger z<®°
c7 oS
K u9
N 40518
o ® .

A/D_INPUT &>

IVIINCE A EE
ULTRAPILOT FADER BOARD
SCHEMATIC , SHEET 2 OF 2

SW42A



MACKIE DESIGNS

AC MADE IN U.S.A. .
E COPYRIGHT 1995 R
REC/RDY 055-057-00 REV: = @ RECORD
@ SW1 @ SW4 @ sw7 @ SWi0 @ sm3 @ SWIE @ Bt @ sw2z @ SW25 @ SW2B @ ELA (‘5 5w33 @ SW35 @ w37 @ SW3g @ w41 sw3
H]Ey) w2z HIS> SOFT MODE
o] 67 &= o[- ¢[=] 6[7] 37 gFl.¢[7] 8[7] &[7] &[7] e[7] @[7] &[] e[~
= R33 ®
SOFT 08 GRP SEL
‘ * <@ ‘ e < w @ ns%cw ASS .
{RIT
@ @ © 0 0 0O «ObEPOEROr O =0 0O 0 O =0 -0 +Ov .
Ow® =0 0 =0 «© OB PE0w 0 «© «© «O O «0 =0 o
I [ T T T T T T I T T T T T T I 7DB®GRP
DB@FX
BANK SELECT
| | | | I H H | 1 I | | H H Il |1 H
LOCATE -
SHIFT s
FUNCTION KEYS
|1 H |1 | H H | I |1 |1 H H |l || H
PSLTAOYP/ Hm
L 1L B 1L 1L L L 1L 1L L L L 1L L L L B TRANSPORT
O 2 3 4 5 6 7 8 9 10 1 12 43 14 15 18

IVIIACICAES

ULTRAPILOT FADER BOARD

PCB LAYOUT




ADLD:71

/0 SPACE 8
+5V +5v O
A5 A4 A3 o1 ' v
1
1T |1 |0]ATOD d s o VREF c25 sy
" S . 1 .
1 0 | 1 |DISPLAY 12MHZ vee o | U2 ALD0:15]
40 |20 - 74HEST3  —
w
0 1 1 | RAM sggF ICE) TN g 20 10
+5V Vee  oND vee &0 =
o i 200|358 ADD apo| o 2 aoo A0 19 oot ADD o 18 A/DINPUT = T s oz
19 38 AD1 Di| 8 13 A0 A01 9 12 AD1 ADL_17
4 s i P ar o o1 > J4-4 J4-3 «—no
c4 SOPF 18 Jy, poa 37 ADZ N AD2| 7l os {14 A02 AD2 8 us ets AD2 NAD2 16 v [ /p_INpUT I
0UF pog 36 ADS b3l g 1o A0S A0S 7h; 270128 oo[l2 ADS N AD3 15 = 050 D>——> J4-6 J4-5 <Al
oo P o5/ % ] PR RN A a— ] PR NV R R ) o
"
P05 o ol —22— 05 DB Ds1 J4-B J4-7 Az
R1 12 o Phelasae N__aos| 5> s[5 AO6 AGE 4 oa18 AD6_\_AD6 12 e 12 v
+5v BK2 os9- & L2 po7 (32 AD7 AD7L 2 e A0 a0 S o718 AD7 AD7_1t 052 >——>14-10 J4-3 <43
~ Ul [— o —325 L
I BOCST  pao (21 A08 A 4 ! 083 O——>U4-12 J4-1 <———SWO
-‘B 4 RO 7»21 o |22 A09 ATD 21 2
vee oo Iz iK1 022 ZZ :%ﬂ ﬂz 3 2 DS4 O——> J4-14 J4-13 «<——ISW1
20 e °23
AT3
24 scu {8 p2.4 25 A2 26 D55 ———>J4-16 J4-15 <———I5W2
Ex W b TIFREN Gt v
vz (21 ADCOBO4 0S8 >——> J4-18 J4-17 VREF
unt 77 A0 D> L1y P17 iPoR
248 MDD Zipu I 0S7 O——>14-20 J4-19
A2 &> '3 Rﬂ" ‘ ICE 45V c29
= g 3 Wb 28 DS8- D——>y4-22 14-21 K
swo 1 enf2 ] A3 ]
SW1 D> 8 lers ALe/F| i” —————— N DS9- O——>4-24 J4-23
SW2 & s 0
[—T| o =
0S8 DO PL7 RXD J4-26 J4-25 =
GND | J2-1 1
_ vee on
+10V/ J2-2 +WUVU §§g Ut4A e
™ og2-3 : —w Lla R 1l us
U3B 74HC574
wofwae |1l e —
o]
TO ULTRA3A ! oo < 25v 027 A2 |7 e k24 oo
L2 !l A 5 15 R25 aDs3
ano | u2-6 '} ADE 5 o ol B26 opsy
A 4 17 R27 apss
Hov | g7 < 717 o2 24 |12 NADE L 51 o2l AMMRZE g
L3 380 vee oo AD7 2 19 R29 ps7
RX | J2-8 ) 2l A0 ADO 120
. [ - Blo ot a0
R40 74HC14 A02 z oo ADZ /77
10K 6 o2 [ 2
2 Sl oo {14 8
A g oos 14 A
= oo {15 13 2
A = ogs {18 A U3F
A 1 17 Al
s 007 T4HC14
LUE]
AlD 9 >u3£
T4HT14
5 :> B
131 o= Usc
W 74HC14
o
= +5V
u1g
6116 UMD 74Hc02
e
U14B 74HC02
o0 U4E
74HC02
ul4C 74HCO2
9 B
U3D 74HC14
+5V
U2 '3 77
L4 | 7805 | 7805
+1ov —H } our| +10V D aurl VREF
I = a o BV e ey
c1s 2 cn c24 2
c30 1 47UF a1 f 470F €23
TwouuuF T 25V T T T 25V T 1
71
25V CHEND DGND
CONNECT GROUNDS HERE
108
1105

IVIIACICAES

ULTRAPILOT CONTROL BOARD
SCHEMATIC




R23

- LU

J2

R22

|
~|
o

= (0

R30

8

U4

' ©

u7

(=)

<

S
Im?
i

@

—o| [zo| [o| [=| || |=| || |
o o [ [ [ S| S| [
o [=| =] o] |o| |9 2] |©

MACKIE DESIGNS

@ MADE IN U.S.A.

005-008-00 REV:

COPYRIGHT 1995
(-
L @7

U4

IVIIACICAES

ULTRAPILOT CONTROL BOARD
PCB LAYOUT




	rt: 


